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1. Using result that determinant is equal to product of 
eigenvalues and product of eigenvalues is equal to trace of 
matrix. [Trace of matrix is sum of diagonal engtries], therefore 
determinant of given matrix is zero. 
2.   Since det(A) = det(AT), and while considering AT, one can 
notice that all cofactors are basically multiplied by zero, hence 
zero determinant.  
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Same arguments as given in Q No. 1
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Determinant of any matrix A is equation of its row 
equivalent matrix ??
Performing one row operation (operation of adding two 
rows) perserves determinant. Other two two operations 
does not perserve determinant. Multiplying a row scales 
determinant and exchanging two rows scales determinant 
with -1. 
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